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Reihenfolge der Spiele in der Normalaufstellung — Nachdruck verboten —

dA
|
i
o
B
%g . = // ol - // 2 2
é‘g ) ok [y 3 Z : . :
’g"é 3 | 2.1':0,[ J. - M= e tey A QAAS 24 2t ) e 04
g }; o) Tei) N Wwer) 4452823004402 F0 (A 0
:\éw [ Spb [ o 4 NS Rucoh | A4 AR48) 2 |2 p Ay
5 w90 e Lief b. | /(na/' 2 T 0 :2\p: 1
§—§° § 2 | E= [ // L) o8 // ) : : : :
_p& = 110 : 2 o S : : : : :
ﬁﬁg Tl £ Gy et 24:4830:2 0t agl 24 |40
go’ﬂ i‘z Sl 7%.,7) N2 Laids» UAQ4:46| 2 |2 0|40
gg a% e e Sobyiu b 5 2 /{anf 24: 219459 P N B 4 #)
gﬁ %ﬁ‘.’é A }Il’f’f//b n: :2 /‘/;71”[:4( St 0:2 |04
¢ Dop- L f ey = .
E@EE i R R £ 3P gl P DN Qi
Ev z Dp:xi- 12 | 16 ﬁl !} e bty [’ {/ﬂ/ E . - 3 : :o
, 2zl h/?l‘?f!’r/ seiaa|adrs | R4AY| L4 |4
e el e Zussacens. | Ao g2l B2 S



